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TrigonometryExercise8 Answers for No.9012

1= (2643 =45.033) M

Ansl =[644/3 = 110.851], , Ans2=[+/130—-634/2 =6.396], , Ans3— 134/3 RN
.2 =| arctan, =20.570 t

h

@
.1:219} M
2=155 | U

Ans4=131.754, , Ans5=133.722, , Ans6 =153, , Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXKXXX KX XXKXX XX XXXXKKXKXXKXXKXKXKXKXXME/1-6300108-00002XX
TrigonometryExercise8 Answers for No.9016

1=T72 M
= - - - _ 4 a
Ansl =[604/3 =103.923], , Ans2=[/61 =7.810], , Ans3 .2:(arctan(—j:29.745° |
7 h

1=386] | M

Ans4=132.157, , Ans5=101.869, , Ans6 =202, , Ans7—[2:221}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXKX XXX KKK LXK KX XKLX LKL LKL LKL LXK LXK LXK KKK X KKKKKKKKKMS /1-6300108-00003XX
TrigonometryExercise8 Answers for No.9018

1 =(664/3 =114315) M

Ansl =[1444/3 — 144=105415], , Ans2=[/34—154/2 =3.576], , Ans3= 114/3 RIS
.2 =| arctan =48.258 t

h

@
.1=310} M
2=155 ’| U

Ans4=141.382, , Ans5=98217, , Ans6=232, Ans7=[

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXKXXKXX KX KXKXX KX KXKXXX XX KXXKXXKXKXKXXKXKXKXKXXME /1-6300108-00004XX
TrigonometryExercise8 Answers for No.9036

1=72 M
Ansl =[1324/3 —132=96.631], , Ans2=[34/7=7.937], , Ans3— 12 ¢
> T 2=|arctan| — |=32.276° || | t
h
Ans4=131.950, , Ans5=148.084, , Ans6=209, , Ans7:['l - 106}, , M
2=53 U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXXXKXXKXXKXXKXX KX KXXX KX KXXKXX XX KXXKXXKXKXKXXKXXKXKXXME /1-6300108-00005XX
TrigonometryExercise8 Answers for No.9037

1= (2843 =48.497) M

Ansl =[1444/3 —144=105415], , Ans2=[+/61-30+/3 =3.006], , Ans3= 743 b
.2 =| arctan p =18.613 !

h

@
.1:272} M
2=1920 ’| U

Ans4=191.263, , Ans5=81.992, , Ans6=224, Ans7=[

T
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TrigonometryExercise8 Answers for No.9138

1=(324/3 = 55.426) M

Ansl =[108 —364/3 =45.646], , Ans2=[24]7 =5292], , Ans3 = 2.3 RN
.2 =| arctan =21.052 {

h

Ans4=152.432, , Ans5=110.703, , Ans6 =239, , Ans7=[’] - 199}, , M
.2=99 U
T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX KX KKXKX XX XXX XXX XXKXXKXKXXKXXKXXKXKXXME /1-6300108-00007XX
TrigonometryExercise8 Answers for No.9602

1=(964/3 = 166.277) M
a
Ansl =[904/3 —90=65.885], , Ans2=[73 =8.544], , Ans3= 243 RN
.2 =| arctan =49.107 t
h

1 =210 M
Ans4=181.917, , Ans5=86.213, , Ans6=155, Ans7—[2:149}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX XX KXXKXX XX KXXKXX XX KXXXXKXKXXKXXKXKXKXKXXME /1-6300108-00008XX
TrigonometryExercise8 Answers for No.9616

1 =66 M
72— _ _ _ _ _ 11 a
Ansl =[72-244/3 =30.431], , Ans2=[/145—-724/2 =6.571], , Ans3 '2:(arctan(_]:34'5090), |
h

@

1=250] | M

Ans4=191.837, , Ans5=102.591, , Ans6 =184, , Ans7—[2:161}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXKX XXX XXX KKK LXK KX KKXKX LKL KKK LXK LXK LXK KKK KKK X KKKKKKKKKMS /1-6300108-00009XX
TrigonometryExercise8 Answers for No.10152

1=(964/3 =166.277) M

Ansl = [844/3 = 145492], , Ans2=[+/130—-634/2 =6.396], , Ans3— 243 RN
.2 =| arctan =49.107 t
h

@
.1=157} M
2=1010 | U

Ans4=171.959, , Ans5=116.827, , Ans6 =228, , Ans7=[

T
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TrigonometryExercise8 Answers for No.11738

1= (3243 =55.426) M

Ansl =[1384/3 = 138=101.023], , Ans2=[34/10-3+/2 =7.198], , Ans3= 843 RIS
.2 =| arctan 2 =19.560 t

h

@
.1 =395 M
Ans4=161.850, , Ans5=118.388, , Ans6 =203, , Ans7—[2:254}, U

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX XX KKXXX KX KXXKXX XX XXX XKXKXKXXKXXKXKXXME/1-6300108-00011XX
TrigonometryExercise8 Answers for No.11754

1=(7243 = 124.708) M

Ansl = [84—284/3 =35503], , Ans2=[1/65—284/3 =4.062], , Ans3— 443 e
.2 =| arctan =44.705 !

h

@
.1=439} M
2=2820 ’| U

Ans4=172.279, , Ans5=97.820, , Ans6 =146, Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKX XXX XXX KKK KX KKXLX XKL LKL LKL LXK LXK LXK KKK KKK X KKKKKKKKKMS /1-6300108-00012XX
TrigonometryExercise8 Answers for No.11841

=60 M

_ Cea_ _ ~ _ _ 5
Ansl = [844/3 —84=61.492], , Ans2=[2+/13—64/2 =4250], , Ans3 ZZ(arctanbj:zg'oﬁo)’ ’

a
t
h

@
N =488} M
9 b U

Ans4 =191.600, , Ans5=81.909, , Ans6=127, |, Ans7=[2_313

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXKXX KX KXXXX XX XXXXKXKXXKXXKXXKXKXXME /1-6300108-00013XX
TrigonometryExercise8 Answers for No.11842

=72 M
_ _ - _ _ 12 a
Ans1 =[604/3 =103.923], , Ans2=[473 =8.544], , Ans3 '2:(arctan(_]:32.2760), |
h

=312 M

Ans4=152.149, , Ans5=60.334, , Ans6 =245, Ans7—[2:156}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXXXKXXKXXKXXKXX XX KXXX KX KXXKXX XX KXXKXXKXKXXKXXKXKXKXKXXME /1-6300108-00014XX
TrigonometryExercise8 Answers for No.11901

1= (2643 =45.033) M

Ansl =[664/3 —66=48315], , Ans2=[4+/5-24/3 =4.957], , Ans3 = 134/3 RN
.2 =| arctan =19.667 {
h

.1 =395 M
Ans4=171.709, , Ans5=116.114, , Ans6 =275, , Ans7—[2:280}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKX XXX XXX KKK KX KKXLX XKL LKL LKL LXK LXK LXK KKK XXX X KKKKKKKKKMS /1-6300108-00015XX
TrigonometryExercise8 Answers for No.11947

1=90 M
Ansl =[1324/3 —132=96.631], , Ans2=[24]7=5292], , Ans3— 15 ¢
> T 2 =|arctan| — [=34.287° || | ¢
2

h

1=366] | M

Ans4=171.859, , Ans5=78.892, , Ans6=150, Ans7—[2=183}, U

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXKXXKXX KX KXXX KX KXXKXX XX KXXKXXKXKXXXKXXKXKXXME /1-6300108-00016XX
TrigonometryExercise8 Answers for No.11989

1=(9643 = 166.277) M

Ansl =[564/3 =96.995], , Ans2=[3+/5-243 =3.718], , Ans3= 164/3 RN
.2 =| arctan =52.846 {
h

.1 =425 M
Ans4 =181.767, , Ans5=136.152, , Ans6 =303, , Ans7—[2:301}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX KX KKXKXX KX KXXKXX XX KXXKXXKXKXXXXKXKXKXKXXME/1-6300108-00017XX
TrigonometryExercise8 Answers for No.11996

1=(7243 = 124.708) M
a
Ansl =[104+/3 = 180.133], , Ans2=[+/19 =4.359], , Ans3 = 343 RN
.2 =| arctan =46.102 t
h

1 =230 M
Ans4=191.750, , Ans5=289.929, |, Ans6=294, , Ans7 = [2 _ 115}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX XXX KKK LXK KX XKXLX LKL LKL LKL LXK LXK LXK KKK X KKKKKKKKKMS /1-6300108-00018XX
TrigonometryExercise8 Answers for No.12889

1=(904/3 = 155.885) M

Ansl = [884/3 = 1524201, , Ans2=[1/25—-124/2 =2.834], , Ans3— 543 RN
.2 =| arctan =51.052 t

h

@
.1=554} M
2=35) ’| U

Ans4 =191.363, , Ans5=47.687, , Ans6 =142, |, Ans7:[

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX XX KXKXX KX KXKXKXX XX KXXKXXKXKXXKXXKXXKXKXXME /1-6300108-00019XX
TrigonometryExercise8 Answers for No.12890

1=(90+/3 = 155.885) M

Ansl =[524/3 =90.067], , Ans2=[+/61-30+/3 =3.006], , Ans3= 343 b
.2 =| arctan s =52411 t
h

= 137}

Ans4=181.917, , Ans5=67.920, , Ans6=184, A”S7=[ 2=179

N X®

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX XX KXKXKXX KX XXKXX KX XXX XKXKXXKXXKXXKKXXME/1-6300108-00020XX
TrigonometryExercise8 Answers for No.12891

1=(60+/3 =103.923) M

Ansl =[564/3 =96.995], , Ans2=[4/25- 1243 =2.053], , Ans3= 104/3 R
.2 =| arctan =39.515 {

h

@
.1=235} M
2=166 ’| U

Ans4=141.607, , Ans5=99.175, , Ans6=182, , Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKX XXX XXX KKK KKK KX KKXLX LKL LKL KKK LXK LXK KKK XXX X KKKKKKKKKMS /1-6300108-00021XX
TrigonometryExercise8 Answers for No.12917

M
1=60
AnsI =[44+3 762101, , Ans2=[24/13-64/3 =3.230], . Ans3= 2—(arctan(l}—26565oj’ |
2 h
Ansd =181.733, , Ans5=89.361, , Ans6=121, ’A”S7:[.]:89}’ v
2=51 U
T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXXKXXKXXX XX XXKXX KX KXXKXXKXKXKXXXXKXKXKXKXXME /1-6300108-00022XX
TrigonometryExercise8 Answers for No.13099

1= (2443 =41.569) M

Ans1 =[60+4/3 —60=43.923], , Ans2=[247 =5292], , Ans3= 243 RN
.2 =| arctan =17.480 t

h

1 =251 M
Ans4=151.983, , Ans5=75.532, , Ans6=189, Ans7—[2 _ 177}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX XX KKXXX KX XXKXX XX XXXXKXKXXKXKXKXKXKXKXXME/1-6300108-00023XX
TrigonometryExercise8 Answers for No.13100

1= (2443 =41.569) M
a
Ansl =[524/3 =90.0671, , Ans2=[4/21 =4.583], , Ans3= 443 RN
.2 =| arctan 3 =16.764 t
h

.1 =205 M
Ans4 =182.033, , Ans5=142.527, , Ans6 =292, , Ans7—[2 _ 132}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKX XXX XXX KKK KX KKXLX XKL KKK LKL KKK LXK LXK KKK KKK X KKKKKKKKKMS /1-6300108-00024XX
TrigonometryExercise8 Answers for No.13139

=72 M
Ansl =[804/3 = 138.564], , Ans2=[+43 =6.557], , Ans3 ‘2:(arctan(_]:32'2760), |
h

1=532 M

Ans4 =141.775, , Ans5=286.649, , Ans6=186, Ans7—[2=342}, U

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKX KX KXXX KX KXXXX XX XXXXKKXKXXXKXKXKXKXXME/1-6300108-00025XX
TrigonometryExercise8 Answers for No.13411

1= (7843 = 135.100) M

Ansl =[1384/3 — 138 =101.023], , Ans2=[+/89—40+/3 =4.440], , Ans3= 134/3 RN
.2 =| arctan =45.665 {

h

@
.1:290} M
2=1860 ’| U

Ans4=161.500, , Ans5=57.560, , Ans6=236, |, Ans7:[

T
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